
Download the MATRIX QUICK START GUIDE @ www.matrixrobotics.com

BASE SET INVENTORY
x4

x4

x8

x4

x4

x2

x4

X4

X4

X28

X2

X4

X4

X4

X2

X4

X4

X4

X4

X4

X8

X4

X4

X4

X4

X4

X4

X12

X2

X2

X4

3 Hole L-Beam

3 Hole Beam

3x5 gusset plate

3x3 flanged plate

bearing plate

MATRIX Motor

29 Hole L-Beam

5 Hole L-Beam

5 Hole Beam

m3 set screw

servo horn

3x7 gusset plate

3x7 flanged plate

Axle collar

MATRIX SERVO

37 Hole L-Beam

7 Hole L-Beam

9 Hole Beam

3x9 gusset plate

3x9 flanged plate

9 Hole L-Beam

11 Hole Beam

5x5 gusset plate

3x5 flanged plate

21 Hole L-Beam

3x3 gusset plate

9x21 gusset plate

servo plate

3D BEAM JOINER 2D BEAM JOINER STRAIGHT BEAM JOINER

X2

X2

X2

X2

48mm caster wheel

4 Hole HUB

96mm Wheel

SERVO HORN SCREW



Download the MATRIX QUICK START GUIDE @ www.matrixrobotics.com

x8 x8

x50x50

x2

x1

x2

X2

X200 X200 X25

X6

X1

X4

X2 X2

X4

X100

X4

X1

X2

X12

X4

X25

X2

X2

X2

X4

X25

X2

x1

X2

4mm M3 screw M3 Hex nut

m4 hex nut

4mm spacer

controller

8mm spacer

 Battery

24 tooth gear

battery charger

40 tooth gear

servo extensions

56 tooth gear

6 pc. tool set

3 hole joiner block

Motor brace

16mm m4 screw8mm m4 screw

52mm d-Shaft 164mm d-Shaft

Motor plate

4mm shoulder 

screw

5mm shoulder 

screw

m4 hex nut with

toothed washer

m4 hex nut with

nylon lock

quick connector

small

quick connector

medium

quick connector

long

16mm standoff 32mm standoff

97-0001     v.3     OCT. 2012    

32mm connector plate

80mm D-Shaft 132MM d-Shaft

X8

3mm washer

X25 X25

4mm nylon 

shoulder washer
4mm nylon washer


